

A. Padankan yang berikut.

$$4\frac{3}{6} \div \frac{3}{8}$$

$$\frac{5}{8} \div 60$$

$$4\frac{4}{5} \div \frac{8}{9}$$

$$\frac{3}{5} \div \frac{3}{10}$$

$$3\frac{3}{4} \div 15$$

$$5\frac{2}{5}$$

$$\frac{1}{4}$$

$$1\frac{7}{9}$$

$$2$$

$$\frac{1}{96}$$

B. Pilih jawapan yang betul dan letakkan di tempat kosong

$$12$$

$$\frac{1}{18}$$

$$\frac{5}{12}$$

$$4\frac{2}{5}$$

$$\frac{1}{8}$$

$$\frac{3}{4} \div 6 =$$

$$3\frac{3}{7} \div \frac{2}{7} =$$

$$6\frac{3}{3} \div 16 =$$

$$1\frac{1}{3} \div 24 =$$

$$3\frac{2}{3} \div \frac{5}{6} =$$